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1 By first 3 4 H 6 1
rounding to Solve the . Express Chc.:mge 65
1 figure of equation... CGICUIGT@ Write 0-46 as a 56 as a into a
accuracy estimate fraction and a product of “top-heavy"”
928 x 57 7x +8=71 -11 - (-6) percentage. | prime factors fraction
7 B select |9 10 1fp-8ana |11 *qaizencion| 12 Calculate
e prime = -6 calculate :- time. Cyclist 1 takes
Caleulate | numper(syfrom | Caleulate | 7SS | s omie iy
'3{/— the following list... 4p + 2q Y cyclist 3 takes
8 60, 61,63,67,68,69 | 0-57 - 4-8 + 9-064 5 Wil el s pach athors
14 Dominic pays £60 | 15 Calculate the | | In a survey of 17 Calculate the

13 Simplify the

volume of this

for a Valentine's 32 people, 3's of ‘eai :

following dinner. He tips the triangular them preferred tea IT\ISSIIHQ ' What is the
. e, ' waiter 15% of prism... to coffee. 50 angle... H|ghes1' Common
expression... w3 ﬂt\;“va:m o:‘u‘rchhe 5 m$ How many of ' Factor
5x? — 2x — 4x? + 9x | does he tip the waiter? Im them prig?;;‘:ﬁ 47° of 12, 16 and 40?
Calculate the area o How far did a These two stamps 7 sandwiches

19 20 i e | 21 ag£900 22 23 thematicay | 24
Calculate | ¥, of Meconpemne | €2 Z57, VEEA faxi drive in | Gy e me RSl coffees
20 mm be bought by paying a 30 mins at | of the missing side.. cost
9 2 10% Idep(:-SIIT P'UTS 20 an averqge % f 'E,1295

- 25 equal instalments. m 60 mm
10 7 " What is the value of speed of 1408 28| |12 How mu;h for
80 mm each instalment? 50 m.p.h.? . rrogem 9 sandwiches?
2 5 Calcula‘f@ T.he 26 A sTandgr'd pack 27 Werite a rule and complete the table.. 28 The current, I, is calculated using the formula;
mnsslmg of playing cards here P is the p
anale.. where P is the power
2 9 hGS 52 CGI“dS..WhGT winy no. of circles (¢)| 1] 2| 3 [11] 2 P and R is the resistance.
74 60° Is The.pr‘obab|||1'y of v . | = |— Find the current, I, when
B85S choosing an even :.\: no. of lines (L) |6|9/12| 2 |78 R there is a power of 80
and a resistance of 5.
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